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Section A

Answer two questions from this section.

1. (a)  With reference to RDM, describe how changes in operations management altered its 
relationship with two other business functions. [4]

(b) Explain how RDM’s transformation of its manufacturing process from traditional mass 
production to highly automated production affected the interests of internal stakeholders. [6]

2. (a)  With reference to RDM, outline one advantage and one disadvantage of Jan’s 
leadership style (lines 88–89). [4]

(b) Explain how innovation at RDM may have influenced their marketing practices. [6]

3. (a) Describe two changes in the external environment that have affected RDM. [4]

(b)  Explain how the methods used to motivate employees could have changed when RDM 
transformed from traditional mass production to highly automated production. [6]
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Section B

Answer the following question.

4. If RDM builds a new production facility in Europe, an immediate consequence will be an increase 
in capacity. At current levels of output this would lead to a reduction in capacity utilization. The 
current output of RDM’s factory is 20 000 units a year, with a productive capacity of 21 000 units a 
year before the new facility is built. If the new production facility is built, the greater capacity for the 
whole business will, at current levels of output, result in the capacity utilization falling to 50 % until 
production at the new facility starts.

Xi, the marketing manager, suggests that this increased capacity provides the opportunity for 
market development to be achieved by entering the United States (US) market.

The US market has similarities with Europe, with an aging population and low birth rate. Demand 
for customized healthcare devices is high. However, the healthcare system in the US is very 
different, with a much greater role for private sector healthcare compared to Europe, where much 
of the healthcare is state funded. In the US, 18 % of gross domestic product (GDP) is spent on 
healthcare compared with an average of 11 % in Europe. Advertising spend in the US is very high 
for the typical healthcare equipment business, which uses TV and the internet to reach individuals, 
whereas in Europe healthcare equipment businesses typically negotiate with government 
organizations. Average incomes in the US are higher than in Europe. Competition in the US is 
very high, although some major healthcare equipment businesses dominate the market. Industrial/
employee relations in the US are generally more decentralized than in Europe, with a lower level of 
unionization.

To assess the best way to enter the US market, some senior managers may have to move to the 
US and Xi may need to recruit some new staff in the US with specialized knowledge of US laws 
and regulations, as well as some additional marketing employees. Xi is aware that industrial/
employee relations are different in the US. 

Existing staff will have to get used to new ways of working and are concerned about having to work 
with new staff in the US.

[Source: © International Baccalaureate Organization 2019]

(a) Describe one industrial/employee relations method used by employers. [2] 

(b) (i)  Using the information above, calculate the current capacity utilization rate at 
RDM’s factory. [1] 

(ii) Calculate the increase in capacity at RDM if the company builds a new 
production facility (show all your working). [3] 

(c) Explain two possible reasons for RDM employees’ resistance to change if RDM enters 
the US market. [4]

(d) Using information from the case study and the additional information above, discuss 
the opportunities and threats for RDM of entering the US market. [10]

Turn over
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Section C
Answer the following question.

5. Jan is considering two options for the long-term development of the business: market 
development and diversification.

Option 1: Market development
Although Jan, with his strong associations with the US, likes the idea of developing the 
US market, he has concerns about it. Over the last four years, the exchange rate has 
fluctuated between €1 = $1.40 and €1 = $1.03. There is some evidence that the US wants 
to discourage imports and prefers foreign businesses to invest directly in the US. Jan thinks 
there are other markets in and closer to Europe that could be developed more easily without 
significant changes to the distribution channels or the culture of the business. He has 
suggested the United Kingdom (UK) market as an alternative, which has a health service 
similar to those in other European countries. In most other respects the UK market is similar 
to other European markets. The main worry is that the UK market would be difficult to enter, 
as established suppliers are likely to be preferred by the health service and there may be 
financial constraints on the health service.

Option 2: Diversification
Jan is also considering a proposal by Heinrik Langer, a business analyst. Heinrik’s idea is 
for diversification. He thinks that RDM should develop a service role. RDM’s directors and 
workforce have all of the skills and experience needed to help other businesses convert 
from traditional production methods to automated robotic production processes. This service 
(known as a consultancy) would require recruitment of more engineers and computer 
specialists as well as highly skilled and experienced consultants. Heinrik’s proposal is based on:
 y the likely low long-term growth prospects for RDM’s healthcare products. Population trends 

in Europe due to the low birth rates (Table 1) will lead to an aging population in the short and 
medium term. However, in the long term there could be economic and demographic problems 
arising from the eventual decline in population that is predicted to occur when the birth rate is 
less than 2.1

 y his view that every business should have a service role
 y possible financial pressures on European governments, potentially reducing healthcare 

spending 
 y his data market research results on robots and robotics (Table 2).

[Source: © International Baccalaureate Organization 2019]

Table 1: Population birth rates

Country Birth rate (births per female)

Germany 1.3

Poland 1.3

Italy 1.4

Spain 1.4

Russia 1.4

US 1.8

UK 1.8
[Source: © International Baccalaureate Organization 2019]

(This question continues on the following page)
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(Question 5 continued)

Table 2: Market research on robotics

Growth in industrial sales of collaborative robots is expected to triple between 2015 and 2025.

By 2020, 1.7 million new industrial robots will be installed worldwide.

Industries affected by robotics include:
• unmanned air, land and sea vehicles
• health care
• manufacturing.

Worldwide spending on robots in 2019: $135 billion.

[Source: © International Baccalaureate Organization 2019]

Nikita, RDM’s director of corporate strategy, has asked both Jan and Xi to provide data on 
each option to help her construct a decision tree to present at the next board meeting. The 
decision tree below summarizes the issues involved in the decision.

Decision tree based on Jan’s and Xi’s estimates

Option 1: market  

development

Option 2: diversification  

cost = $2 m successful 0.8

unsuccessful 0.2

Likely 
outcome

$6 m

$16 m
$8 m

$20 m

$10 m

$18 mstrong growth 0.5

weak growth 0.5

US market 

cost = $5 m

UK market 
cost = $3 m

favourable  

exchange rate 0.6

unfavourable  exchange rate 0.4

[Source: © International Baccalaureate Organization 2019]

Using the case study and the additional information on pages 4 and 5, recommend whether 
RDM should choose Option 1 or Option 2. [20]
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